6 Knacc NAT

Listen to three girls speaking about television. Match the speakers to what they say.

a) TV may lead to bad marks. Speaker 1
b) TV may help learning. Speaker 2

¢) TV has many functions.

Read the text about Rome and London and fill in the table.

b3

Rome is the capital of Italy and London is the capital of England. Rome and London
are two of the greatest cities in the world, but they are two very different cities. London
is bigger than Rome with a population of 9,787,426 people compared to Rome's
2,645,907,

And of course the other big difference between the cities is the climate. Rome is
warmer than London. The average temperature in Rome in summer is 24 ‘C and in
London it’s 18 "C. In winter the average temperature in London is 4 'C and in Rome it's
10 'C. But the cities also have many things in common — they both have an underground

railway, although the underground in London is bigger, and they also have many |
interesting monuments. They both have important cathedrals, St Peter’s in Rome and |

St Paul’s in London. Tourism is an important industry for Rome and London and
millions of tourists come to both cities from all over the world every year.

Rome London

Population

Average summer temperature

Average winter temperature

Underground railway (Yes/No)

Name of monument

Important industry
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@ Complete these sentences.

Alexander Pushkin is the greatest Russian writer and poet.
Alexander Pushkin __ (1) on June 6, 1799 in
Moscow. In 1811-1817 he was a ___ (2) at the
Lyceum in Tsarskoe Selo near Saint Petersburg. He

(3) in literature and he published his first poem
at the age of 15. His most _____ (4) works are

“Eugene Onegin” and “Ruslan and -Lyudmila". For many people
Pushkinistheir ____ (5) writer.
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